43 DSE BiEEsk 2020 BAFS Paper 1 Answer

mMmCcOLLLMACALDLLDLAAAAMDLDAMAACAMCAMDLDA

— &l A O~ o

)

—

—
—

N

—

on
—

<

—

wv
—

\O

—

o~

—

o0
—

(@)

—

S
N

—

N

N
N

o
@\l

<
(q\]

vy
@\l

\O
N

o~
@\l

o0
@\l

N
N

S
o

4
<
S
e
(0}
KS
(@)
o
2
s
=
M
=
&l
E
&
=
3
3
S
S
N
RS
2
N
S
O
©



MC % Rz | EHER

1.

1y
2)
3)
4)

10.

11.

12.

13.

14.

st Control process fZEI 32

Setting the standards. Z]17fZ% (Choice A)

Measurement/Measure the actual performance & & EEERFEIN (Choice B)
Make comparison/ compare the actual and standard FLER/ELEEFEFOIFLAE

Take corrective actions. 4IE{T#H) (Choice D)

DNEIRREFZARESIOREERY » (B RAFRVE A LURTF B TR R TAFRER -

BESEEHTEAE - A RITER -

(1) A (4) RZ7E%EH Operation management fY#i[E -

GEHDIHETHIARA! (RISRETE, EN—EARRARARAVERE/ ! FAREE R

[ B EEFAR/KEIK 3 TEM ¥ Financial Statements [, [ AE BB —LLi 0T
B, BIH0SFENEES S, SERTE%28 SHFARSEE? BENRENEHFE S
#%!

BB E, TEMEIRMFE Statement of financial position IR o

EORESEAAR S SREER SRR AT REEEE - FEEE DR EE T EAVE
{E o The assets of a firm are valued at their original cost purchases or production. Any

changes in their market value should be ignored.

FARZ: Assets = Liabilities + Capital ~EE=A{E+& K

BEIEFEER, AAREEAN, AERKEEHEEEL, AV BORFEERHE
Assets OJ$85k JEFRENE E Non current assets + Jfii 8 & Current assets

Liabilities B]% % IER & {& Non current liabilities +)/f & {& Current liabilities

Capital =[$#57 & A Capital +75F1] Net profit --f£F] Drawings

Net profit FI)E X A%k Revenue Ui#s: — Expense & H

PG B N Ao BT -

FH#EEE D i+

B4t Assets = Liabilities + Capital EE=E{E+& K

(Non current assets + Current assets) = (Non current liabilities + Current liabilities) + Capital
FRLUEEEZE “h0” AR !

Non-current assets + Current assets = Capital +Non-Current liabilities — Current liabilities

—o_
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15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

29.

30.

Net profit ratio = Net profit / Sales JFF[ZR=;%F/ $5E&

WIS PLELAREL BT, A% TR

Net profit F}- 2¢ Sales [k B¢ Net profit JHiES2%4% Sales g
FEER: ERE must NE ZFHEENFR, /VOLFR

Current Ratio 77 8/ELEZR[E] Quick Ratio ZEENLLZRAVIH 2 & Inventory 128, LA Quick Ratio
HEILLE—EIEE A Current Ratio JiiBLLER -

{E4ELL Current Ratio f/R, FrPAE ] LAMHE Es6 &%, {5 0JfE(4 Cash % »

positive RFAYZERIITTRIBBEFELTEE

Current assets i #81E& 7 >= Current liabilities JR & & (&

B E: Bank $R{T{F5K Balance gr%H A/ IER&!

BRSNS AEERRE— SR A H R EAERE - DA NS4
AR -

Business entity concept

A business is treated as an entity separate from its owners. Only transactions affecting the

business should be recorded in the books of the business.

By definition. fE{EEZ -

RIS BEHUMFEAMRE - JEALURBUEIE ANBRK > RAEECHARE) |

Trial balance R A A] 8 H — /G UE P W RESER - FrLUM R RIS V218 MR

SEENEN o

HREIERESHEA! A2 IR A F 2 AR R

JFH: RINEERRINASE ISR AE

By definition. fR{EEZ -
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Section B Z.Z)
1. The company does not have expertise in providing social service.

NEIFERMSE G IR T A B

Objection from shareholders, e.g. extra resources on social responsibility might lower their

returns on investment

NEIRGRI S AR s T B S NE TR & R A MR & B

The company has already paid tax on their profits which could be allocated by the government to

provide various social services

NEE BTG - BUR A EZ B H s R R (S R 2 TR & E

2. Machine A: F4ES2AJFIH(E:
NPV=$ -20,000-70,000/1.1+ (350,000+450,000)/1.1*3 = $337,415

Machine B: #425B; 3 (H:
NPV=$ -270,000+250,000/1.1+400,000/1.1"3 = $257,799

Mr Kam should buy machine A for its higher NPV.
HAEEEA, NERFRERS -

a)  Company reputation will be adversely affected, which may lower long term profit.
NEREBREZR - REFERKD -
May be sued.
GHABIE -

b)  Government, Supplier

BURT - BLIERs
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a)

b)

a)

b)

b)

When the going concern assumption is no longer appropriate, assets are recorded on the balance

sheet at their net realizable value, i.e. current market value, not their cost.

$44,000
wEESE RN ERR o B A Im IR E R R E E R T
$44,000, MABEEA -

Risk reduction
Risk transfer
JeE B ek >

JE\ P S

Low selling price
High production cost

Weak control of operating expense

EEmE
A A =
BHEN A S/ RAERRAERE A

the liquidity of the business is worse than the industry average
too much capital tied up in inventory

difficulty in repaying short term debts

Both GP ratio and NP ratio are lower than industry averages

NP ratio=5%, extremely low, risk of facing loss.

N EIHVEEIAE DA TR PR Ry 2
N JE S E R 2 FE AT B S
FEAZ  SREELHEE

NEINEFRE T T N R
FHRREE% - R EiEERES

N AEEEHE > BImE
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a)
Cash book
2019 Discount Cash Bank 2019 Discount Cash Bank
April $ $ $ | April $ $ $
1 Balance 75600 1 Balance b/d 4000
b/d
1 Sales 9100 1 Drawings 3500
1 Cash 5600 | 1 Bank 5600
7 Debtor 4000 58000 | 9 Creditor 100 20900
21 Debtor 175 4200 | 24 Electricity 6000
27 Capital 8000 30 Bank 79600
30 Cash 79600 | 31 Balance c/d 4000 116500
4175 92700 147400 100 92700 147400
b)
understand the terms before signing any contracts
check account statements from time to time
b
2019 sHE0 HEe  R{TEE | 2019 e e SITEX
A $ $ $| WA $ $ $
1 BREER I 75600 1 BREER I 4000
1 HE 9100 1 ITH 3500
1 4 5600 | 1 SRR 5600
7 JEUIRTR 4000 58000 | 9 JETIRER 100 20900
21 EUZIRZR 175 4200 | 24 EE 6000
27 B 8000 30 $RTTEER 79600
30 R4 79600 | 31 EREEEE N 4000 116500
4175 92700 147400 100 92700 147400
b)

BT GHIR T RELINEK
EHIERIIR S B
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